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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which of the following is the condition to check a is a factor of b : : u.?'l;.}ggb ¢ af+8k’2,ﬁ’ﬂdu;€; Ul 1.4
b/a==0 (D) alb==0(C) b%a==0(8) a%b==0 (A
if there are three return statements in the : G/J-E ——— YU e uﬁwfufdftufﬁ’ﬁ 2
function body ----- of them will be executed : .
Firstand last di'fz;‘d}.{ (D) Three ¢~ (C) Two 2 (B) One £ (A)
Which of the following is a valid line of code : : ‘ §.@MJUU’U:(J3;(4;JU’ 3
char='A"; (D) chargrade='A"; (C) float=34; (B) int=10; (A)
An array is a --- structure : : ‘Lﬁ;‘/ . 4
Conditional 53/ (D) ‘Data L3 (C) Loop ¢ (B) Control & (A)
(&5
(2)
In C language character constant is written within ; ‘wa@wé ﬂ&t”g/‘-{fuf 6,»@0'
# (D) ' (© ) C A >
What is the output of the following code : RPN, (0] d/ 39} 5t
int m = 80 ¢ T - 6
if (m> 70 &&(m"< 80)
5 printf ( "Pass")
else
printf ("Fail") ;
1 (D) 0 () Fail (B) Pass (A)
A software that facilitates programmers in writing e t'U'Z'CL. Q:}»Jﬁ’&gfl/c//;{&’/;/ﬁ a2 L]
computer programmes is known as : ‘ ‘ _ T ,"' - 7
IDE (D) Editor 44/ (C) Debugger £+ (B)  Compiler A (A)
In this function int is a : C e intot A
int msg () %'”twu’ﬁ‘f’ g
printf ("keep it up") ;
Return type ¥J%s (D) Body $3L (C) Parameter /<1 (B) Argument wons T (A)
---- part of for loop is executed first : - g.ag%c,.,/,ﬁ_-- s Jfor
Body (f3{ (D)  Increment/ decrement ({/.5(-2’ (C) Condition b7 (B) Initialization /% (1 (A) 9
What is the result of 13+21% (41-20) : L e 2K 13421% (41-20) et
12 (D) 13 (C) 10 (B) 34 (A) 10
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Misimaes Rlarks & 40 ( PART-1 Jil =2 );J 22 L ety (@) e S 2
8 2. Write short answers to any FOUR (4) questions : .4'.&( </ §Identifier (i)
! (i) Define identifier. ) A cx K S u.."":':,gé' AN St I /25..5 (ii)
i i tructure for the - & S de « B g
(i) %ﬁgglfglig gn\?arﬁlaglzauat the time of declaration. 3 é Ul { /f'é“ _:C;C ((:\III;
(i) Describe text editor. ; e t’i‘-’(/‘f':':é;, s
(iv) What is assignment operator? ) 21: Y J Sy o (Y
(v) Define arithmetic operators. N /?g‘ 5 s (i)
i following expression : $349%44(3%2) .
(vi) Evaluate the 32/4 3.+9/o.4 ( :g.:,uz/"'éc-u" (4) s e J/ <3
8 3.Write short answers to any FOUR (4) questions : L e e 3T s ()
i i t of following code : i = 0 T
(i) What is the output of ilfn(taim D st
printf ("yes") ;
else )
N e sk B ()
(ii) Identify the errors in the following code : F(1<2<3) :
printf ("1")
(13

( 2 ) ! ; wE
3. (iii) What is common mistake in compound statement? fe dn _'U/ uw 2V Ve
(iv) Draw a flow chart of if statement in C-language, el Sulsk § Cntis if 2 G T (iv)
(V) What is meant by array index?

e sl LI & SRk el (v)
(Vi) Write syntax of array declaration. 24 S K S 4 S Ay (vi)
8 4. Write short answers to any FOUR (4) questions : - a":,;uzﬂ?z:awym J,(;c.éf -4
(i) Why return keyword is used in function? ?‘c.t‘(y“b(dl*;“fu‘z.f;‘mf YO A 0]

(i) What is meant by return type of a function?

?‘4.;'/&//:.%}?(-}/?./&; 5
(iii) Briefly explain function call.

5 G
- & el g B

(iv) Write down structure of function definition, -é ;f 131 uﬁ:(,ff;‘ u’ﬁ (iv)
(V) Find error(s) in the following code : . _ L& @J/Jqluﬁ W50 (v)
for' (int r°=/ 3 { <nZO!) l>++)

(Vi) Write out put of the following code : F‘:ltntsfufn o_ " P, o ¢ é: /i‘/, 23Ty :‘:Q’}b/: (vi)

for(P=1,P<=20; p=p4y
sum =sum +2 ;
printf ("sum = %d", sum);

CPART-TI py ) -
Note : Attempt any TWO questions. -J@W&ouln}c_‘jf )

8 - Explain int and float data type in C-language. ..Z.‘:/ w(&uf <V &3 float us int P C-language _5

8 6. Explain printf ( ) and scanf () functions with the _"é/ ..:»L}:Juﬁﬂ scanf () us! printf ( )c_uJJt"«'_/l? -6
help of suitable example.

8 7. Write a program that print the table of 5 using -’ghé.nl/ab';‘lfv}’ “for" (f/:{ﬂf-"’d:&j F G 4
"for" loop in C-language. ’
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£.b.«l:?.:/nc;ufu://béér)&VZ:JV/T{QKL}L'? -ujzé_;D 4 CBA :«Lfﬁ;@géd'/ﬂ ot
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cuttigg or filling two or more circles will result in zero mark in that question.

A float uses ----- bytes of memory : : 9bfdwl&1“"Jd’K¢ﬁ‘g 1-1
7 (D) 4 (C) 5 (B) 3 (A
---- is a software thatis ﬁL&;uicgaf‘uﬁ;‘citgLz:/:}:;;uf5fd...li/)/ﬁd/(!ﬁ{£‘¢t'nﬁm)l/wug ..... 5
responsible for the conversion of programme files to machine understandable and executable code :
IDE (D) Debugger #5 (C) Editor 24! (B) Compiler #U (A)
What will be the answer of following statement : Kn.,b?@?ﬂdﬁ@u 3
float a = 10.0/4

10 (D) 1(C) 25 (B) 2 (A)

The operator % is used to calculate’<<-- : Ul ?t’ﬁdh’p’é}(i./s.‘«:’ :@:.“.-%/‘:{T &
Square d/ (D)  Factorial J.' Jr’g’ (C) Remainder ( (51'5{)11{1 (B) Percentage (f"/{ (A)
{2)

What will be the output of the following code : : ’&V &JJTJ 5:0’ 3
i#(1>0) ’ R
printf (" 1 ");
else
printf ("0"):

HOII (D) |l1 " (C) 1 (B) 0 (A)
Conditional logicjmelps [ L T P JUJ":,)J 6
Reversing _qu;j/ (D)  Traversing sz’/’ ©) lterations u:ﬂ/F (B) Decisions u:L‘.?' (A)
----- part of For Loop is executed first - e el o> ¥ For
- s ahialerv did K.
Increment/ decrement u{ / 21 (D) Body ¢ 3L (C)  Condition 57 (B)  Initialization /2 % (A)
----- make it easier to read and write values in array: e byl Tbﬂ"/ufta’(ufgu:;/’c. —-
. Ry . o ‘ ‘ b o v 8

Functions /5 (D) Expressions /J/{gl (C) Conditions &1~ (B) Loops 4 (A)

The advantages of using functions are ----- : - e /’)ﬁL/’UL&‘VW
o, 4 - A, ) 7 2

Compiling ...a(,}/ (D)  Printing »@‘{ € Reusability JW‘UL/Q (B) Executing J),:..(/..( I (A)

Function input is called - : c.JU/ ._*/uid/uig

. P ‘.L/’ . - ’. ¢ T =

Identifier /6 %"T (D) Function signature ,:u.x.i...um (C) Return value %’L‘Jf.’-/ (B) Parameters ;1 (A) 48
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( PART-1 Jif .») '
8 2. Write short answers to any FOUR (4) questions : : J e /3 L =y (4) /b = Jf -2
- (i) What is the purpose of using a compiler? _é Uk 42§ JWV & )’lfv (i)
(i) What s a case-sensitive language? S sl L v = 6;@ e u’/ (ii)

(i) Explain briefly types of comments in C- -language. -Z.( Uk /“; "LM J U~ C-language (i)
(iv) What do you know about operator precedence? U b l/ u‘ u"/ & 5/ (f AT (iv)
L

(v) What is the purpose of arithmetic operators? 2’: Uk 42K J//f M' (v)
(vi) Convert into a logical expression : 2: J & J-J'/r ‘)9 U ..f I J 3 L (Vi)
a=bc’ +6b
8 3. Write short answers to any FOUR (4) questions : ol . A 4 /"' L ey (4) /lp & J/ -3
(i) Define conditional logic? - J/’ u)’” L;/‘ (0

(i) What do you mean by associate code in if statement? "4_; /U/c.,)f associate (% if (ii)
(i) Find errors in the following/code : i i 4
—— § J gt S 3 J} Lo (i)

B ow if (percentage > 755) ;
( J.Uﬂ) printf ("Pass");

£2)
3. (iv) Write output of the following code : VYR el o 25T J 78 J; Lo (v) -3
inte=9;
) if (C(<A10);
printf (*10"),
eLsef( o)
rintf (9" );
(v) Write syntax to declare an array. ‘ é/ /u&.u.uﬁ_/g'{:;/l v)
(vi) Write name of different loops used in C-language. _é/rtLuJ ot Je I 6 -C (vi)
8 4. Write short answers to any FOUR (4) questions : Tl Uf/"ZuUlrM)Jb‘:_Jf
(i) Identify errors in the following code : (5] é Vi Uquu"' u(f 38 (i
x
float ks [10] ; o
(ii) Write the output of the following code : oat marks [10]; . 2, Lold lp( 5[J~ s (il)

for (intx=2; x<=20;x=x+2)
printf (" %d \ n", x): )
(iii) Differentiate between function arguments and parameters. ‘< u/qu" ir 'ﬁ-»f._/// vu'c_’ (iii)
(iv) Define function. é »..d/’ . (iv)
(v) Write the general structure of function signature. _é Z / .5 b3 ¥ qu.l:_\-u u’é (v)
(vi) What do you know about the return keyword? Ut bl Y- 4../L 35 § Retumn (vi)

( PART-1I (9 )

Note : Attempt any TWO questions. . utvﬁuu!f»;_(jf XY
8 5. Define variable. Write down its rules. -5 /f Jrt £ Py rt z /‘" Zf J/ d/ 2~ 5
8 6. Explain the logical operators with the help of truth table. é eolos J’ £/ J J//l d‘b} -6
1,4 7. Write a program using FOR Loop to print -éf’//KL./u/['leZOtZ;nL/JWqu)FOR <7

even number from 2 to 20.
217-024-11-(Essay Type)-40000



